
Subtract 1-digit from 2-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

35 - 7 =  

84 - 5 = 

72 - 4 =  

34 - 8 = 

68 - 9 = 

86 - 7 = 

57 - 8 = 

43 - 6 = 



Subtract 1-digit from 2-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

35 - 7 = 28  

84 - 5 = 79 

72 - 4 = 68  

34 - 8 = 26 

68 - 9 = 59 

86 - 7 = 79 

57 - 8 = 49 

43 - 6 = 37 


